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(1TH) 1,000
0o Hetss X oloi2A2(1CH) 2,000
0 &MJls +# 1,000
QZAIE & =& 22| 174,195 176,464 N2,269
101 2124 H| 174,195 176,464 N2,269
04 D12t 22 Xt=s 174,195 176,464 N2,269
0 FOIZAI 014 (3y) 42,446
o Jl2a 36,690 * 3 x 280 30,820
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36,690& * 3Y¥ x 50 5,504
o HXR"3 36,690 * 3Y x 12 1,321
o 75222 55,030& * 39 = 10 1,651
o 2HAlH| 3,000& = 398 = 300 2,700
o Y3 50,000& * 39 = 3JH4 450
0 MEEE L ElesMYy D] Seldgolz(109) 131,749
o JlEaz 36,690 * 10Y = 280! 102,732
o FEYLL(FH4Y)
36,6903 * 109 = 50! 18,345
o AXtgasit=Y
36,690 * 109 = 10 3,669
o ge2E2sH 55,030& » 109 = 10 5,503
o &gt 50,000& + 10Y = 3H 1,500
DIZXANE SANEx 277,980 372,520 294,540
401 AlEHIL 2 HH] 277,980 352,520 AT4,540
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0 HIOISFY 3diel & M) HEE HEE S
S At 60,000
0 A2 Hi& 252 WHSA 26,000
03 Al 2 0HYI 1,980 2,520 2540
0 Hol=2XelAld AlE=20HI 1,980
HoI2™el&d =HXS Xd 600,000 1,800,000 A 1,200,000
401 Al HIZ 2 OHYI 300,000 300,000 0
01 Al &I 300,000 300,000 0
0 HOI2HMEFHAY F0U=JAAS 300,000
402 Q12+ X201 ™ 300,000 ,500,000 A 1,200,000
01 QIZt X288 X 300,000 ,500,000 A 1,200,000
0 HOISZM2EF=HAY FUSJAY 300,000
SSSEA 22 330,940 261,900 69,040
= 99, 100
= 17,650
= 214,190
Not BSSHEA &2 330,940 261,900 69,040
= 99,100
& 17,650
= 214,190
SSoHEA St 61,540 126,900 65,360
301 B AF 1,000 1,000 0
12 J|Et2 A2 1,000 1,000 0
0 HHAESIEA &F Al&Z3 1,000
401 AIEBIZ 20HYI 60,540 125,900 A65,360
01 Al &l 60,000 125,000 265,000
0 ot&4A WA 12,000,000& = 5Jf A 60,000
03 Al 204 540 900 A 360
0 ==& a Aldstist & WA 540
SSSEAY A 2l 135,000 135,000 0
206 i = bl 9,000 9,000 0
01 M= dl 9,000 9,000 0
0 NHHAESSEA A2 22F 2 9,000
307 21201 & 126,000 126,000 0
05 QIZtRAE 2 126,000 126,000 0
0 S=st&E4 B2l el
300,000& = 35044 = 129H& 126,000
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2 99, 100
= 17,650
2 17,650
01 Al&t| 133,530 0 133,530
0 TEAZA HX 7S B4 28 133,530
2 98,360
= 7,520
2 17,650
03 Al& 2 ChH] 870 0 870
0 BTHFA #1 ¥ 24 870
2 740
= 130
HHSAZH (S4SZD) 1,786,763 1,732,355 54,408
Ol 2ol (SAEY D 1,756,283 1,697,155 59, 128
ol 2yl 1,756,283 1,697,155 59, 128
101 2121t 1,756,283 1,697,155 59, 128
ESIPEEESEPS 1,756,283 1,697,155 59, 128
0 20|52 (38Y 1,756,283
o Jl=3 1,312,308 * 383 * 128 598,423
o sy
1,882,33028 * 383 * 50% * 4% 143,058
SR-E-
1,882,3308 * 383 * 50% * 2% 71,529
o Hetce|
1,882,3308 * 383 * 50% * 5% 178,822
o JIELY 25,0008 * 38 « 4Y * 128 45,600
o S4YSLY 90,0008 + 3BY * 128 41,040
o IZI4Y 70,0008 + 3BY * 128 31,920
o NE224Y 120,009 * 8% * 128 11,520
o Hougaly| 160,000 * 38% * 122 72,960
o JpH 2 EH| 110,000 * 38% 122 50, 160
o WS EH| 140,008 * 389 * 12% 63,840
o YEEIH|
1,882,3308 * 383 * 60% * 2% 85,835
o A2 2Ry
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66,6302 * 38% * 202 50,639
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350,00020 * 102 * 43l 14,000
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o 1=l 250,008 * 38 9,500
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2 (= Me ) 30,480 35,200 A4,720
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0 YBILBH(BE) 13,680
0 SHI(BES) 7,0008 * 188 * 1002 12,600
203 YR =Y 4,200 4,200 0
04 2NRHHREEY| 4,200 4,200 0
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WEECYEE Y 247,193 0 247,193
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